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REASONING |

Dlrections (1-8) : Study the
toltowing informaticn carefully and

answer the given questions based |

on L.

In each of the following ques-
tipns two keywords have been writ-
Len in A oo !'-al.l'lgl.l.-u.g:. The letlers

_'ve code equivalent are not nee-
vily in the same order as letiers
it the Key word for which they
stand. Under thena third word has
oo given which has been written
in four diflers sl languages in-
clusting the o 1 which the key-
wards have been writlen. Find the
nlternative which may be the code
eyulvitslent in the code of the ;g,q_l,-
wonds, That i your answer,
1. VIBRANT eaqwpkl
RENT WHEEHT
EXALT
(Mpawgl
[Mpmhgf
Mwkhpg
CRAFT
FATHER
SCRIPT
gqwplvn
[inxkwig
Blwnpklw
MilngEwl
DECOUR
SCOPE
IMPURE
Nlpeahrm
2] s ajmrg
Bmljehr
[Mleajhmr
COLUMMN
BIRTEH
LENGTH
MNailmvw ¥
RBimrasilwsx
Fgriuvw
MilEmmnrvw

2lpmkgz

qung
pxgwkmn

jpsleca
hslmp

siogrw
Emivx

8. MASTER bapgqvx
SECOND abjnow
KORTH
MNabnwx [2bhngvx
Mamvwx [Mabnvx

Directlons (6-10) : In each of
the following gquestions, there is a
certain relation between two givehn
numbers on one side of 3 and one
number i5 given on & another side
of :z while another number is to be
found from the given aliernatives,
having the same relation with this
number as the numbers of the giv-
en bear. Choose the best alterna-
tive,

B 10:145:014:7
111 155 [2) 198
(3] 226G [4) 238
7. d:28u58:7
1) 130 [2) 138
3] 145 [4) 148
B 12:5:;:%:27
(1] 78 (281
(3] 53 ) &7
# B:10B8uB:7
(1] 220 [2) 238
3) 278 [4) 33X
10, B:48u 1417
(1] 151 [2) 168
317 4] 188

Directions (11=15) : Study the
following arrangement of digits, let-
tera and symbaols, and answer the
questions given below :

F 4 ETNI @ BDIP7T @ W |

JUG X KG @ & HZMO*S 3L

C*Q4R5V*AB

11. How many consonants are

there each of which is elther

immediately preceded by a

number and/ or immediately

followedd by & symbol 7

[1} Sewen (2] Eight

|3} Mine 4] Ten

12. Three of the followieng four are
alike in a cetain way based on
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13,

14.

15

16.

the above arrangermenl and
form & group. Which is the one
that does nol belong to the

roup
(1] Gl 12) 8
[3) WUG (4] #25

IT the positiona of E and F are
interchanged, and the posi-
tions of M and A are inter-
changed, how marny vowels will
b there each of which will be
both immediately preceded and
immediately followed by a con:
sonant ?

(1) Thires 2] Two

(3] Omie 4] Zero

What should come in place of
the question mark in the fof
lowing series ?

EBS Ve Pe@ 7
(1 Gom 2] KHm
(3 KHE (4] GEIE

A man prrfnmu three consec:
utlve operations. In his Ars
operation he reverses the or-
der of first 10 elements from
the left. After that he starls
second operation and reverses
the osd=r of fist 20 elements
from the befl. After that he per-
forms his last operation and
reveses the order of first 30
elements rom the ssume end
Alier three operations which
element will be 4th to the right
of the 13th element rom the
right end of the newly ohiminesd
Beries T

G [2) K

[@F [4)L

A went on tour on [5th Ao
gust, which was the third Sus-
day of the month and came
back on 30th Sepiember, Soon
which day of the month did he
relurn 7

1] Fourth Sunday

{2] Fourth Tuesday

3] Filth Thuersday

4] Third Saturday
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I7. If Thursday was the day after

18.

the day before Yestorday five
days ago, what is the least
number of dines ago when Sun-
day was three days before the
diay after tomorrow ¥

(1) Towo [2] Three

[3) Four (4] Five

- Six friends P. . R. 5, Tand U

are sitting around a circular

table facing toewards centre,

The angle made at the centre
of the circle by m straight Hnes
fram P and  is 180°, from @
and R is 120° from R and 5
180°. T is not sitting on the
immesiate left of R while R ia

- not on the immediate right of

F. On the basis of the above

information which af the fol-

lowing statements is definite-

Iy rye? |

(1) R 6 sitting between P and
5

(2) T is sitting between P and
U

{31 Q is sitting between 5 and
L. d

{#]T and R are sitting oppo- |

site each ather.
13 students are standing in a
harizontal row from let (o
right. ITall the odd-numbersd
stidents in a row are shifted
1o the successive odd-num-
bered positions, what will be
the pogiton of & boy, who was
seventh in the row initially 7
(1) ffth from beft
(2) fifth from rght
13) eighth froamn Jeft
{4) ninth from right
14 studenis are standing in
row from left to right. After
interchanging their positbons.
first student goes at ldth
place, second goes at 13th
place, third goes at 12th and
&0 on. Il°A’ was at ninth posi-
tion before change, then after
changing he would be at which
place ?
(1) Fifth from right
12) Seoth from right
{3 Fifth from left
14) Sixth from lelt

Dhirections (21-28) : [n quses-

tions given below, a stalement is
followed by reasons | and 11 Apply
the reasons to the statement and
mark your answer as under 1

21.

22.

(1) Only 1 is right

[2) Only 1 is right

[3) Bodh [ and 11 are right

[4) Meither [ nor I is right

The President sormetimes par-

dons the victims who have

been destined to be sent (o gas
chamber.

I. The President is more kind-
hearted than the judges.

1. The President is constantlhy
interfering with law.

~After the bomb blasts, the cit-
izens of Mumbai declared that
they were not afraid of terror-

181 activities,

I. They knew that all the per-
sons invelved in such dis-
graceful activity would be
caught by the police.

Il. They are a brave lot and do
not believe in giving up or
lesing confidence if anti-

“social elements try Lo
El‘lgh!m them.

Valunteers oflen affer their ser-

vices for scientific and medi-

cal that e

harmiful ar even ral;:wm

L. They do not give impor-
tance Lo their life where
ndvancement of seience
and help o humanity is
concerned.

II. They are confident that the
scientists would samehow
save them.

Some species of birds are on

the verge of extinction.

I. They are belng conatantly
hunted.

It. Pollution and destruction of
lorests have affegted their

breeding process,
Pesticides are responsible for
causing different d in
human beings. becawse
I. They contain some o
other type of poison that ldlis
worms and pests but affects
the plants sdversely.

Il. Poisons are harmiul to hu-
man beings too.

Directinns [26-340) 2 [= cach

question below are given baoe <500r

mbeivls falboaed by lour conclissions
ruambered L 0L, T and V. You boase
Lo take the wio gven stalennts |

be true even if they seem Lo be wl
variance from eommenly known
facts. Read all the conclusions and
then decide which of the given con
clusions logically follows/Tollow
from: the two given stalements dis
regarding commonly known facts,

26,

27.

Statements :

Some men are homemakers.

Somee home-makers are woan-

£n.

Concluslons :

I. Some men are women.,

Il. Some women are men.

I Al wamen are home-mak-
&rs,

I, All home-makers are men.

(1] All Fodlew

[2) None follows

[3) Only 1 and 111 follow

[4) Only Il and IV follow.

Statements :

All scholars are teachers,

Some teachers are researchers,

Conclusions :

I. Al scholars are research-
ETH.

Il. Some scholars are researcis-
T8,

ll.Some researchers are
teachers.,

1. Some teachers are scholars.

(1] None follows

[2) Omily [ and 1V Eollow

(3] AR laollow

(4) Omly 111 follows.

Statements 3

Same men are boys.

No by is @ woman.

Conclusions :

I. Mo man is wornan "

. Mo boy 15 man

IT1. Spamee mer: Are wWormen

V. Some boys are men.

(1) Al fellow

[2) Noae lollows

(3] Ondy IV and either | or 111
follow
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[4) Ondy | and 11 follow

2



28, Statements : .
' Mo Manager is o teacher
All teachers are rescarchers.
Conclusions :
I. Mg researcher is a Leacher,
II. No researcher is a manag-
T,
1. Some teachers are research-
ers.
V.8ome researcliers are
tkachers,
(1) None follows
(20 Al follow
(3} Omly 11 follows
[4) Onily I and IV follow
. Statements :
All houses are Fooms.
All rooms are windows.
Conclusions :
I. Allwindows are rooms.
1. Al rooms are houses.
1L All howuses are windows.
V. Bome windows are houses.
1] Norme: follows
12) Omly 1 and I lodlow
13) D‘nly 111 and IV follow
(41 Cmily 11 follows i
Directions (31-38) 1 A letier
letter combination arrangement
machine when given an input of let-
tersfletter combinations rearrang-
ea them following a particular rule
ineach step. The following is an 1-
tustration of the input and the stéps
of rearrangement.
Input : Going but for crept te
light sir
Crept going but for te
light sir
Step Il : Crept going light but for
Ie &ir
Step Il : Crept going light but for
sir e
IStep I is the last step for this
Inpat.) .
As per the rules followed in the
above steps, find out in the given
questions the appropriate step lor
the given inpul.
31, Input : the in car as he may
me
Which of the fallowing will be
the third step for this input 7
(1) car the in as he may me
{2) ear may the as in he me

Step 1 :

(3] car as may he the in me
{4) car may the in as he mé

Il the second step of an mpuat
is ‘clever remand window sales
batch uger never” which af the
ollewing steps would be List
step of Lthat input #

(1 v

@A 141Vl

If the input is “true se velo " be
“muke my like,” which of the fol-
lowing will be the IV siep 7

[1) vets brue nuke like se be my
(2] be my se lke true veto nuke
(3) ke Fuke true veto be se my
[4] ey Hike sie true veto nuke
Inpait : ‘more fights cats cough
sough acts idea’,

Which of the following steps
would be the last step for this
input ?

yn v

3Vl {41vi

In how many steps the follow-
ing input be fully arranged 7
Inpul : amis goes to the bar
after dinner everyday

(1) Four {2) Five

[} Six (4} Seven
Directions [36—40) : Read the

fallowing information carcfully and
answer the questions given below It :

i) P o means § is to the right
of P at a distance of one
metre.

(i) P P Q means O is to the
Maorth of P at a distance of
ane melre

() Py @ means § is to the left
of P at a distance of ane
metre,

(Wi P n @ means Q is to the
South of P at a distance of
one metre.

(vl In each of the following
questions all persbns face
South

3. A7 ByLMB K then K is in
which direction with espect to
AR
(1) South 12) East
[3) Horth [4) Weat

A7. HGalnRaM. then M is in
which direction with respect
ol
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[1) North-East
[2) North-West
(3} Sowth-East
(4] South-West
., TaByCHD them D is in
which direction with respect Lo
AT
1) Narth [2) South
(3) East (4] West
. MRELNSaNyF. then Nisin
which direction with respect (o
L7
(1} South
2] South-West
[3) Marth
(4] North-East
 TAYFRGYTAQ. then Q is
inwhich direction with respect
wA?
(1) South-East
[2) South-West
[3) North-East
[4) North- West
Directions [41-45) : Choose
the odd numerical pair in each al
the following questions =
41 (1) 13- 22 (2124 - 78
(3} 16 - 52 [y -2
42. [1)6-16 [2) 1B~ 48
13121 = 6& [4) 27 - T8
n)39-77 [2)51 =119
(3133 - 88 [4) 52 - 81
4. (1)26-4 [2) 226 - 14
13ZM4=-16  ([4)82-8
48. (1)2-4 [2}4 -8
HE=-18 [4) 8- 32
Directions (468 - B0) : Read
the information given below ‘and
then answer the questions tha fal-
Jover =
An Insurance Agent musi
schedule his appaintment with elght
clients A, B, C, D, E. F. G and H
during one week, Monday through
Friday. He musl schedule two ap-
pointments for Monday, Taesday
and Wednesday each., and one each
for Thuraday and Friday.
He must see C on Thursday.
He must see B on a day beflone
the day on which he sees [
He aee B an a day before
the dagy ol ich hr,_a.{::-s [




He must see A on a day before
the day on which he sees G.
He must see F and A on the
same day.
46. Il the Insurance Agenl sees D
and G on the same diy, which
ol the following is a complete
and accurate listing of the days
on which he cowld see them 7
(1) Monday
(2} Tuesday
(3} Wednesday
_i4) Monday and Wednesday
If he sees F on Wednesday,
which of the following must be
ruie 7
I. He sees D on Tuesday.
1. He sees H on Momsday.
1. He, sees G on Friday.
(111 enly
(2111 anky
(3 1 and 111 only
141 It andd 10 -omby
If the Insurance Agr
on Tussday, then which
follewing musl be true 7
[1] He sees E on Maonday.
(2] He sees F on Tuesday.
[¥) He sees H on Friday.
[4) He &ees G on Friday.
48. Which of the following, if true,
povides suflicient additional
information to determine on
which day each client will have
his appointment 7
(1) H's appointment is sched-
ule for Monday.
(2) B's appotniment s sched-
uled for Tuesday.
(3] B's appointment Is two days
belore O
(4] F's appointment is two days
belore B.
Which of the following 1s an
acceplable schedule for the
week's appoiniments 7
Mon. Tuwe. Wed. Thur. Fri.
MBHDG FA C E
EBBHDE FA C G
MBDHG E GC FA
MGBDE FH C A
Directions (51-85] : In all the
questions that lfellow, different
symbols have been used with dif-

&)
the

ferent meanimgs. For each set of
questions you have to assume giv-
en statements to be true and then
decide which of the two conclusions
ts/are definitely true.
Glve answer (1) Il only conclu-
sion | 15 trye,
Give answer (2) Il only conclu-
Alon 11 is true.
. Give answer (3) If elther con-
clusion 1 or Il 1s true.
Give answer (4] [ bath are true.
The symbals +, -, =% + and =
are used with the following mean-
ings :
F + § .means P 1a greater
than .
P~ ( means P is greater than
or equal to @,
P x @ means P is equal (o Q.
F + @ means P 18 smaller
than Q.

51.
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P = @ means P is either small-

er than or equal to Q.

Staltements :
MexX.L+ON+M.LaX
Conclosions :
L. N+L

Statements :
S=F.K+5B=xK.R+B
Conclusions :
. F+K

. X+0Q

0.K+R

. Statements

H=V.AxZ H-ZF+V
Conclusions : d

I. AxH IH+A

. Statements :

[+ R-LZxR.J+E
Conelusions
I Zx1

Statements :
O+RC+D.F-RDxF
Conclusions :
IL.g+C

n.Z +1

IC+F

Directions (B8 = 80) : In each of the following questions, in three
out of the given four pairs of figures, the first element is related to the
gecond element in the same particular manner. Spot out the pair in which
this relationship does not exist between the figures.
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ENGLISH LANGUAGE

Directions (61 - 84) : In each
of the lollowing sentences four
words or phirases have béen printed
in bold. One bold part in each
sentence 18 not acceptable in
standard English. Pick up that part
and mark its number,

61. The government initiated (1)

various measure (2] to ralse

(3] the living standards (4) of
the people.

Most of the critles (1) agree

that this is ene of (2] the best

novels that has (3) appeared
in recent years.[4)

83. [ (1) any one cares to joln (2]

me im this campaign, elther
{3) mow or in future they (4]
are mical weloome,
The reason (1) for my
proloaged (2) absence (1) from
the class was becanse [(4) | was
11l.

Directions [(B5-68) : Fill in the

blanks with the most appropfniale

words.

B8, He was given a good ...

when he lefl for America.

(1] take off (2] send off

(3 brush off (4] breakolfl

It would be dificult for one 5o
o be led o believe

men are egqual and

that we must disregard race,
colour and creed.

(1) emotional (2) democTatic

[3) intolerant (4) cbsolele

B7. The fudling ....... of the enemy |
helped e shorten the war,
(1) mvoral [2} morale
13} hold (4] discipline

B8, This island is a colony of
British, but in most malless
it is and recelves no
orders from the mother
CcOuntry.

[1] submissive

[2) distant (3} alool

(4] aulonomous

Directions (B8-72) : Each
question below consists of a related
pair of words followed by four pairs
of words. Select ﬂ'l_ﬂ pauir that best

expresses the relationship similar o

the original pair.

B8. Poor : Wealth : @

{1) Calorifle = Heat

12) AfMuent : Health

(3 Ernaciated : Obesity

[4) Homesl : Truth

Starey : Glance i

(1) Seom : Admire

(2) Hunt : Stalk

(&) Gulp : Sip

[4] Comfide : Tell

Storey : Bullding : :

(1) Piat @ Outline

(2) Fung : Ladder

() Cible : Elevalor

(4] Foundation : Skyscraper

Doctor : Discase : :

(1] Moroa : Imbecility

2] Pasdiatrician : Sendlity

(3] Broker : Siocks

[4) Psychialrist :
meenl

Directions [73-78) @ In the

following questions choose the

alternative which best expresses the

meaning of the given word.

73. Clandestine

TO.

Tl

Maladjust-

(1] Secred [2) ghooiry

13] paitial [4) caulious
74, Gratify

[1] deewenar [2) grant

(3] grab {4) satisfy
78, Credible

(1) warthy (2] beliewable

(3 noticeable (4] carelul

T6. Despicable

1) comtemplibsle

2] faithless

131 desperate

4] undesirakie

Directions [77-80) : Choose
the word which is opposite in
meaning Lo the given word.
T7. LUSCIOUS

(1) fickle lﬁ}lrlsl'pld
[3) languid
{4) deteriprating
78. UNDULATING
(1] Miae (2) ups
3] steep
(4} gradual
70. SUPERFICIAL
(1) shallow 2] deep
(3} real (4] artificial
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80, SUFPRESS
11] stimmulate  (2) lengthen
3] abandon (4] smmolber

Directions (81 - 84) : In Lthe
following questions the word at the
top is used in four dilferent ways.
Choose the option in which Lhe
usage of the word is incorrecl or

(1) The manufaclurers are
really pushing this new
shaumpoo.

[Z) He has difficulty pushing
his feelings inlo words.

[3) We should be able 10 mave
this table il we push it
together,

[4) She pushed through the
crowd saying that she was
a doclor,

LINE

(1) Our telephione line is down
due 1o the heavy rain sl
night.

[2] The students were stamnding
in & line for the morning

prayeT,

[ His coat s Ined with silk

[4) The Leacher cul off his name
fram the line of scholarship
awardees,

FAR

(115he 15 chever and intelligent
ardd wul go far in her lilie.

(2] We weni for a drive but we
coubdn'l go far.

[3)1 can't remadn without Far
lor & long time.

[4) So far everything has gone
well with owr theatre.

MASTER

111 5he could not master Lhe
courage to leil her friend
aboul her loss,

[2) She quickly masiered the
art afl inlerviewing pcﬂp!r

[3) The terrorist was a masier
of disguise,

(4] He is the master of his
huse.

Directions (BS - 88) = Fill in

the blanks with appropriate

allernative.

B85, Vijay asked me .o

[why didn't you go Lo
Lendon ¥

83,

Downloaded from ExamPunditin




(2) why | didn't go to Landon 7
(3) why didn’t | go to London 7
twhy you didn't go Lo
London ? :
To answer accurately {5 more
important than
(1] & quick finish
[2] fimish quickly
[3) Ardshing quickly
[4) you finish quickly
. Even after repeated warmings.
Mr. lswari Prasad ........ o ol
lice on lme.
[1) comes never
[2) never comes
) is never coming
[4) have never come
. This i8 ......... af such atro-
cious behaviour.
(1) my first tme of hearing
(2] the first time that | have
heard

(3] the first time of my hearing
4] the first time of the hear-
Ing
Directions (88-81) : In the
fllowing questions. a sentence is
gven in active volce, Find the cor-
rect passive voice version from the
fiven alternatives.
58, Someone had locked the class-
FOOHTI.
(1) The class-room is becked,
[2) The class-room was being
locked

[3)The elass-room has been
loched.

[4) The class-room had been
bocked,

. W Justly rebuked him for act-

Ing 50 selfishly.

11 He has justly rebuked for
selfishness,

(2] He was justly rebuloed by us
for acting so selfishly.

(3] He has been justly rebuked
by us for acting so selflshiy.

4] He has rebuked by us for
acting so sellishly,

That remark has wounded my

leelings. F

(1fMy feelings have been
wounded by that remark.

(Z)My feelings has been
wounded by that remark.

13) My feelings s wounded by
that remark.
{4) My feelings were wounded
by that remark.
Directions (82 = G5) : In the
following senlences replace the
words printed in bold with the
appropriaig expression from the
Elven alternatives. .
92. A committee has been estab-
. lished 1o select the cricket

Leam.
[1] st up [2) met off
(3] set out [4) set about

. The cfilef guest distribated the
certificates to the players of
the winning tesm.
1) gave off (2] gave up
13) gave avay (4] gave in
Our alfice has been decorat-
ed for the Chiel minister's vis-
i,
(1} done for  (2) done over
[2) done with  (4) done up
- He is always promineat in a
crowd because of his helght.
(1] stands out  [(Z) locks out
(3] stands up  [4) looks up
Directions ($6-100) : Read
the following passage and answer
the guestions given after il
Throughout the extensive ar-
cas of the tropics the tall and stately
primeval forest has given, way to
eroded land. serub, and the jumble
of secondary growth, Just as the
virgin forests of Europe and Morth
America were lasd bow by man’s im-
providence, so those of the tropica
are now vanishing - only their de-
struction may be encompassed in
decades instead of centuries. A few
authorities hold that, exeept for
government reserves, the earth's
great rain forest may vaniah within
a generation. The economic loss will
be incalculable, for the priiary rain
forests are rich sources of timber
[mahogany, teak) and such by-prod-
ucls as resing, gums, cellulose, cam-
phor and rattans. No one, indeed,
can compute their resourees, for the
thousands of spectes that compose
the farest cover, there are only a fow
whose physical and chemical prop-
erties have been stedied with a view
to commencial use.
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Muost important of all, the pri-
meval rain. forest 15 a reservoir of
specimens, a dynamic centre of evo-
Tution whence the rest of the world's
plant life has been continuwously
enriched with new forms. These ex-
lensive reserves must be defended
from the acquisitive hand of man.
whose ruthless axe would expose
them to the ravages of sun and rain.
8. According Lo the passage. the

primary reason for conserva-

tion of the great rain forests is

that they are

(1) the ehiel source of income
of governmenis. ;

(2] areas of botanical evolu-

tior. .

13) major sources of materials
for chemical industrics,
[4) npt ready for man's rulh-
leds axe.
. The word ‘primeval’ in para-
Eraph bwio means
[1] first in importance
(2] commercial (3) gorgeous
(4] untowched
. The ideas of the awthor would
probably be the most strongly
supported by
(1] lumber company represen-
tatives
12) conservabionists and bota-
riiats
13) chernical manufactarcrs
(4} government representatives
. According to the passage, the
result of chopping down the
tropical rain forest s
(1) an increase in government
TESETVES,
[2) a surge in plant evalution,
[3) damage to the soil.
[4]a decrease of commercial
exploitation.
“Omly their destruction niwrh-t
encompassed in decades in-
stead of centuries’ means that
the destruction of forests
{Jjwlmnm}»m‘nm.
(2] will happen in this centu-

Y.

(3] will be surely by the next
century,

&) will take place in a decade,
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[ NUNERICAL ABILITY 1

101. The valwe of

24162 xPas2iz 15
(135 2} 9%
2 5 42

I
041110 -t
Is equal to
(1) 0.897 (2) 0.99
(31 (4] 1.23
103. The first 44 positive integers
are writhén in an arder to form
a larger number
N=l123456789101112
- 42 43 44
whiers N is divided by 45, then
the remainder is
ms =7
39 41
104. When a natural nurmber N is
divided by 5, the remadnder is
2, when divided by 7. the re-
madnder is 3, when divided by
9, the remadnder is 4. [T N Is
the smallest number, then the
sum of the digits of N 1s
m7 218
3] 11 (4] 13
. In the sum below, F = 0, and
the other letters represent the
digits 1, 2, 3, 4, 5, or &, with
each digit wsed wmctty i) 1=
and the two digit number AB
i% & prime number.,

AB
« CD
EFG

Then the value of A + 2B is
(1] 10 2]8
37 49

108. Which of the lollowing is the
largest
(1) 100007 (2) 21
() 1D () 3=

107, A sum of three non-zera num-
bers is eight tmes the first
rnumber. three times the sec-
ond number and p times the
third number. The value of p
1=

1 4
1 iy 0

24 13
AT 33

LOB. Unit's-tigit of [Tﬁ'l + ?Wm]

Is
(1)o (214
(i [4) 7

108, Which one of the following
does nol divide (290 < 1) 7
[na (27
(aj 127 [4) 2047

110. HCF of three numbers 3240,
3800 and pis 36. Il thelr LCM
I8 2 x 3 x 5 x 7 then the
number pis
M) x5x T2
[2) 3% = B2 72
(B2 xIxT
P =

111. Fresh cherries contain 89%
water. Suppose you have | kg
of fresh chermies. After a few
hours in the sun, seme waler
evaporates and the percentage
of water in the cherries be-
comes $83%. The new welght (in
&) of cherries 1a
(1) 750 T2 700
(3) 00 (4] 500

112. To x Hires of an x% solution of
acid, y litres of water is added
to get (e 1093 solution of acid.
If % > 20, then value of y is

10x

16

113 A and B are teo alloys of gold
and copper preparet! by mixing
metals in the ratio 7 : 2 and
T:11 respectively. If equal
quantities of the alloys are
micited to form a third alloy C.
the ratio of gold and copper in
C will be :

s:7 (25

[(37:5 a2 {2
114. The price of a dinmon pro-

partional to the square of its
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mass, which {8 measured in
carats. A 6 carat diamond was
broken into two pacts and Lo
tal price of the two picces @

5 -
qu’ the price of criginal dia-

mond. The masses [in carat] of
two pleces are
11) 3.5 and 2.5
2] 5 and 1
(¥ 4.5 and 1.5
{4) 3.2 and 2.8

115.In a mathematics éxamina
tion, the average schfe of siu
dents who passed s x and
those' who (adled 18y W the
average score of all the stu
dents who appearcd n the ex
amination 15 . ther the per:
centage of students wh-: failet
was

100y

I.Wtu E)
[§1] = 2

x-y

I.Ol'.'ll_‘[x -z}
=y
116, Hefght of a cybindrical jar i de
creased by 36%. By whal per
cenl- miial the radius be in
" ereased so thal there ia m

change in its velume 7

(1) 25 (2) 35

(3 36 [4) 40

A person can row o boat d kn
upsteeam and the same dis-

100(x - y)
) —=—H

K=K

tance" downstream in 5:

hours, Also he can row th
boat 2d km upstream in j
hours, He will row the sam
distance downstreamin

1 : iy
i1} 35 howrs (2 33 hours

1 .
4= 3
13) 4 3 haurs H]-theurs:

-Sufice area of a cubedd is 2
em® and the sum of the lengthy
of all 1ts edges is 24 cm. Lengt
of each diagonal of the cubold
lin em) is

mm
@ i3

2 iz
RO
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118, An equilateral triangle and a
regular hexagon have equal
perimeters. The ratie of the
area of the triangle and that
of the hexagon is
[pn:1 12)2:3
[33:2 [413:4

120. A can walk a certain distance
in 20 days when he rests 8
hours a day. How long will he
Like 1o walk twice the dis-
tance, twice a8 (st and rests
twice a8 long each day 7
1) 40 dayss 12) 60 dagys

@ [3] B0 days 141 100 days
1.4 person leaves a place A to
place B at & a.m. and reaches
place B at 10 a.m. Another

person leaves B at 730 nm.
and reaches A at 11 a.m. They
will meel each other at

(1] 7. 40 aom.  (2) 820 a.m.
(3] 8.40 a.m.

[4) 9.20 a.m.

122, The mean of n observations is
Xy If the first chaervation is
increased by 1. sccond by 2,

- and 8o on, then thelr mean is

Xg. The value of Xg-X, is

g+l

[Mn~

i+ 1
o S5

fn +1]

(4} =

Directions [123-126) : Study the following table and answer the

questions. :

Fopulation Sex

Literacy

(in lakhs)
110

(1 a6 [2) 50

[3) T2 [4) 22

L The ratio of imports and ex-
ports of country B in 2007 was
whast per cenl more than that
for A in 20047
(1267 12) 42.8
[3) S0 4] 120

. In wiich of the fllowing years
was the walue of exports less
than the value of imporis in
the case of country B %
(112010 12) 1998
(3) 1992 4] 1997

LT the exports of esuntry A in
2007 and imports of B in 2008
were Ra. 15 million and 10
millon respectively, then the
ratio of Imports of A in 2007
to exports of B in 2008 was
ne:a 22:8
32:3 [4)3:2

| mterat

[ GENERAL AWARENESS |

100

]

50

1]

A5

AQ

(RN BT E TS -

|

123. The total number [in lakhs) of
the illiterates in cities A and F
is
(1180 (265
(3180 4] 95

124. Total illiterates in city E is ap-
praximately what percent of
tolal literates in city C 7
[EVR 2 [2) 12
(3263 (4) X5

125, Ratio of total number of males
in cities A and B to the tolal
number of lemales in clties C,
D, Fand G is
()4l : 40 [2)40: 41
(328 27 [a)27: 28

126. What is the ratio of illiterates
in eity D to literates in clly G 7
[13:8 218:3
M5:2. 4)2:5

Directions (127-130) : The
following graph shows the rato of
imparts Lo exports of teo counirics
A and B in different years.

=3
—a— 1}

a5z 09 045

127. Il the imports of country A in
20085 and the exports of coun-
iy B in 2010 were Ra. 3.4 mil-
lion and Rs. & million respec-
tively, the imports of Bin 2000
was what per cent more than
the exports of A in 2005 7
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131, Government of India launched
the Jowaharlal Mehr Nation-
al Urban Renewnl Mission in
1) 2002 {2) 3005
(3] 2007 (41 2010

132, When is National Energy Con-
servation Day celebrated?

(1) 16th Augast

(2) 5th Seplember
{3) 10¢h November
(4] 14th December

133, Which of the Cup / Tropies is
associated with the game of
Football 7
(1) SAFF Cup
2] Deodhar Trophy
13] Indira Gandhi Gold Cup
[4] Wimbledon Trophy

134. According Lo Transparancy [n-
ternational Corruption Percep-
ton Index, 2011, whal is In-
dia's rank amongst 183 ocoun-
tries 7
(1 (2) e
3] 95 4] 87

135, Many times we read a berm Dol
N vArious NEwspapers in con-
nection with 20 Spectrum.
What Is its full form ?

(1] Directorate of Technalogy
2] Directorate of Tele Services




[3) Department of Transport
(4) Drepartment of Telecom
138. Which of the following books
s written by Sunil Gavaskar 7
{1) A Briel History of Time
2] A Sense of Time
3] Sunsny Days
{4] Great Expeclations
137. Which ol the following inter-
national evenis I8 associated

with the game of Car Racing ?

(1} Singapore Grandprix
[2) Dubai Open
[3) Twenty-20
14) FIFA Werld Cup
138. For (raining troops in counter
terrorist operations and for en-
hancing defence cooperation
and military relations, which
couniry held Joint-Military
Trainihg Exercise, SHAKTI-
2011 with India?
(1) 5 Lanka (2] USA
[3] France 14 UK
138. Which country has test fired
nuclenr capable Hatf-7 crulse
missile ?
[V} Japan [2) China
[3) Russia [4) Pakistan
.In which year Dadasaheh
Phalle Award was instituted ?
1) 1965 (2) 19689
(3] 1972 (4] 1874
. Iron Lady “lrom Chano Sharm-
ila” belongs to
(1] Arunachal Pradesh
[2) Nagaland
[5) Meghalaya
[4) Manipur
. Which state has topped in In-
din's Child Right Index, 2011 7
(1) Karnataka
(2] Kerala
{3) Gujarat
{4] Maharashira
L India celebrated s ...... Re-
public Day on January. 28,
2012,
[H)Gls [Z) G2nd
{3} 63 [4) G4th
144, The maodmum weight in (e re-
vised whole sale price index
implemented from Seplember,
2010 is given to which of the

following items T °
(1) Food items
2] Manufactured items
3] Fueel
(4} Primary articles

148. Which blood vessel in human
body, normally carries the t
urea 7 )
(1) Hepatic Viein
[2) Portal Vein

' . [3) Dorsal Aorata

[4) Renal Vein

148. The Directive Principles of State
Policy were adopted from the
(1) British Constitution
2] Irish Constitution
(3] U.5. Constitution
(4] Swiss Constitulion

147. Where was clectricity first in-
trodwsced on a cormmercial scabe
im India 7
(1) Kolkata [2) Mumibai
[3) Chennal  (4) Darjecling
148. Yang in Yin' formed the bas
ol Chinese 3
[1) Medicine (2 Philosophy
[3) Feligion  (4) Astronomy
148. Virgin Forests are located in
(1) Assam 2] Gujarat
3] Kerala (4] Mizoram
150, This State contributes 70% of
India‘s coffee and sik. Name
this state : !
(1) Karmataka [Z) Assam
[(3) Rajasthan [4) Punjab

a4
8.1
1211
16,03
20,041
24.2)
28.03
24l
as.u | 9642
suiz) | 4044
4341 a3
470 48.[4)

TH
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B50.02) | 5141

543 | BEJa

BEAL | BeuI)

83131
G712

6203
BELY

712 |
TE[2)

T4
744

Fa.11]
B2.[4]

T2
B33

BE.2) | BE.[2) | B7.L2

8640 | 802 | BLIL

B33 | B4.4) | B850

BT43 | 8802 | 8843

104443
106.(1)

10044
108.(1)

10315
1O7.[2]

02
106020

1063 | 11043 | 11044 | 11202,

TLLH | L1443 | 115.04) | LE6.[10)]

11701 | R1B3 | 11902 | 230.00)

1200 | L2244) | 123(3) | 124.000)

L2502 | 126004 | LIT.4) | RZE.H )

128,010 | 130,07 | 13L.62) | 1320}

13341
13741

13403
128.(1

136.44)
138.44)

13601 |

14104 | 142020 | 14300

1487 | 148.02) | 14744)

L48.[3) | 150.41)

= EXPLANATIONS =

1. (3} The camman leiters in VI
BRANT and RENT are RNT.
Therefore, RNT = wa p
Now, E=+m
Tm=p
Al
h and g may be codes for X:
and L.

2. (4)

cRAF TI=awxne

;i-:,{"f‘?l-l Ei_it-i = plx q w|k|n

Therefore, C =g

The eode for SCRIFT = Inggv/
3.(2) DECT U R = [plca

sEOrE=hpBlmp

P s hoor m
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